
1) Find perimeter of 
rectangle having 
sides a = 88 m 
and b = 40 m

Answer: ____________

2) Find perimeter of 
rectangle having 
sides a = 88 m 
and b = 40 m

Answer: ____________

3) Find perimeter of 
triangle
a = 53 cm , b = 73 cm

Answer: ____________

4) 3   5/6 - 4   1/4

Answer: ____________

5) Factorise q2 + 7q + 10

Answer: ____________

6) Factorise q2 + 7q + 10

Answer: ____________

7) Find the median of the following set of data:

18, 10, 10, 13, 15, 34, 36, 24

Answer: ____________

8)

'Name the type of angle.

Answer: ____________

9) Increase 42 by 1/6

Answer: ____________

10) Find perimeter of 
rectangle having 
sides a = 87 cm 
and b = 47 cm

Answer: ____________

11) Find perimeter of 
rectangle having 
sides a = 87 cm 
and b = 47 cm

Answer: ____________

12) 32.2 + 17.2

Answer: ____________

13) 95 ÷ 5

Answer: ____________

14) What would you multiply by to 
increase an amount by 64%?

Answer: ____________

15)
64

10 /12

Answer: ____________
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16) q1 / q20

Answer: ____________

17) q1 / q20

Answer: ____________

18)
9

4 /8

Answer: ____________

19)
15

Volume of Cone 
15

Answer: ____________

20)
32

6 /15

Answer: ____________

21) A number is chosen at random from 
1 to 25. Find the probability of 
selecting multiples of 6 and 7.

Answer: ____________

22) Increase 56 by 75%

Answer: ____________

23) What would you multiply by to 
decrease an amount by 99%?

Answer: ____________

24) $251.00 earning 10% compound 
interest for 9 years.

Answer: ____________

25) Find the mean of the following set of data:

0.9, 14, 2

Answer: ____________

26) Find area of triangle
a = 75 m, b = 96 m

Answer: ____________

27) Find area of square 
having each side (s)
equals 8 cm

Answer: ____________

28) Factorise d2 + 9d + 14

Answer: ____________

29) Simplify 1:11

Answer: ____________

30)
16  Find Volume of 
               12       Cylinder 

Answer: ____________
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Total: ___ / 30
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Answers:

1) 256m 2) 256m 3) 199cm 4) 15/12 5) (q + 2)(q + 5) 6) (q + 2)(q + 5) 7) 14

8) Straight 9) 49 10) 268cm 11) 268cm 12) 49.4 13) 19 14) 1.64

15) 32 16) q-19 17) q-19 18) 3 19) 3534.2917352885 20) 4 21) 7/25

22) 98 23) 0.01 24) $591.84 25) 5.63 26) 3600m 27) 64cm 28) (d + 2)(d + 7)

29) 1 : 11 30) 1809.5573684677
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